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BSEH Practice Paper Marking Scheme 3 
Class- XII 

Military Science 
Time Allowed: 2 ½  Hours                                    Max. Marks: 60 
 

 lHkh iz’u vfuok;Z gSA 

 iz’u la[;k 01 esa 15 iz’u gaS] ftuesa 06 cgq&fodYih; iz’u] 03 fjDr LFkku Hkjks iz’u] 03 ,d 
'kCnh; mŸkj ds iz’u vkSj 03 vfHkdFku&dkj.k iz’uksa dk mŸkj nsuk gSA izR;sd iz’u 01 vad dk 
gSA 

 iz’u la[;k 02 ls 07 rd ds iz’u vfry?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj 40 ls 60 'kCnksa esa nsus gSA izR;sd iz’u ds 02 vad gSaA 

 iz’u la[;k 08 ls 13 rd ds iz’u y?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA buds 
mŸkj 60 ls 80 'kCnksa esa nsus gSA izR;sd iz’u ds 03 vad gSaA 

 iz’u la[;k 14 ls 16 rd ds iz’u fucU/kkRed gS] buesa lHkh iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj yxHkx 250 'kCnksa esa nsus gSA izR;sd iz’u ds 05 vad gSaA 

General Instructions: 
1- All questions are compulsory.  
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03 

fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason 
questions. Each question is of 01 mark. 

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions 
have internal choices. These are to be answered in 40 to 60 wards. Each question carries 
02 marks. 

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have 
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03 
marks. 

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice. 
These are to be answered in about 250 words. Each question carries 05 marks. 

 
 
Q.No. Value Points/ Answer MM 

 Multiple Choice Type Questions 15x1= 15 

1 (1) Hkkjrh; lSU; O;oLFkk dh rqyuk fijkfeM ls D;ksa dh tkrh gS\ 

¼d½ ,drk ds dkj.k 
¼[k½ le:irk ds dkj.k 
¼x½ ,drk ,oa J`a[kykc)rk ds dkj.k 
¼?k½ buesa ls dksbZ ugha 

 

1 
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Why is the Indian military system compared to a pyramid? 
(a) Due to Unity 
(b) Due to similarity 
(c) Due to unity and series 
(d) None of these 
Answer- (c) Due to unity and series 

1(2) Hkkjrh; Fky lsuk fdrus dekaMksa esa foHkkftr gS\ 

¼d½ 04 
¼[k½ 05 

¼x½ 06 

¼?k½ 07  

Indian Army is divided into how many commands? 
(a) 04 
(b) 05 
(c) 06 
(d) 07 

             Answer- (d) 07 

1 

1(3) jk"Vªh; lqj{kk ifj"kn dk v/;{k dkSu gksrk gS\ 
¼d½ jk"Vªifr 
¼[k½ iz/kkueU=h 
¼x½ j{kkeU=h 
¼?k½ jk"Vªh; lqj{kk lykgdkj 

 

Who is the chairman of the National Security Council? 
(a) President 
(b) Prime Minister 
(c) Defence Minister 
(d) National Security Adviser 
Answer- (b) Prime Minister 

 

1 

1(4) Fky lsuk/;{k dk in gksrk gS& 
¼d½ estj tujy 
¼[k½ ysf¶VusaV tujy 
¼x½ tujy 
¼?k½ QhYM ek’kZy 

 

1 
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The post of Chief of Army Staff is- 
(a) Major General 
(b) Lieutenant General 
(c) General 
(d) Field Marshal 
Answer- (c) General 

1(5) Hkkjr esa ukSlsuk fnol dc euk;k tkrk gS\ 

¼d½ 03 fnlacj 
¼[k½ 04 fnlacj 

¼x½ 05 fnlacj 
¼?k½ 06 fnlacj 

 

When is navy day celebrated in India? 
(A) 03 December 
(B) 04 December 
(C) 05 December 
(D) 06 December 
(E) Answer- (b) 04 December 

1 

1(6) fuEufyf[kr esa ls dkSu lk Hkkjr dk Lons’kh yM+kdw foeku gS\ 

¼d½ fejkt 2000 
¼[k½ jkQsy 

¼x½ fex 27  

¼?k½ rstl 

 

Which of the following is India’s indigenous fighter aircraft? 
(a) Mirage 2000 
(b) Rafale 
(c) MiG 27 
(d) Tejas 
Answer- (d) Tejas 

1 

1(7) Hkkjr esa orZeku ukSlsuk lsuk/;{k dkSu gS\ 

Who is the current Chief of Naval staff in India? 
Answer- Admiral R. Hari Kumar 
 

1 
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1(8) ch0,l0,Q0 dk iw.kZ :Ik fyf[k,A 

Write the full form of BSF. 
Answer- Border Security Force. 

1 

1(9) fdlus dgk& gfFk;kj pksV igq¡pkus okyk 'kfDr’kkyh vkStkj gSA 

Who said- Weapon is an instrument with striking power. 
Answer- JFC Fuller 

1 

1(10) lsD’ku dk rksi[kkuk---------------------------dks dgrs gSA 

……………is called artillery of section. 
Answer- L.M.G. 

1 

1(11) Hkkjr esa felkby VsLV jsat ---------------------------esa fLFkr gSA 

The missile test range in India located in……………….. 
Answer- Chandipura (Odisha) 

1 

1(12) ,u0 lh0 lh0 dh LFkkiuk o"kZ -------------------------- esa gqbZA 

The year of establishment of N.C.C. is ……………… 
Answer- 1948 

1 

1(13) vfHkdFku (A) & iSny lsuk dks ;q) {ks= dh jkuh ds :Ik esa tkuk tkrk 
gSA 
dkj.k (R)& ;g iSny py dj 'k=q ls vkeus lkeus dh yM+kbZ yM+rh gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)

 

1 
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Assertion (A)- Infantry is known as ‘Queen of the Battle field.’ 
Reason(R)- It fights face to face with the enemy on foot. 

a) Both Assertion (A) and Reason (R) are true. 
b) Both Assertion (A) and Reason (R) are false. 
c) Assertion (A) is true but Reason (R) is false. 
d) Assertion (A) is false but Reason (R) is true. 
Answer- (a) Both Assertion (A) and Reason (R) are true. 

1(14)      vfHkdFku (A) & vk/kqfud le; esa ok;q lsuk thr dh |ksrd ekuh tkrh gSA 
dkj.k (R)& D;ksafd ok;q lsuk ;q) ds nkSjku rhoz xfr ls loZ= dk;Zokgh 
djus esa l{ke gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)

Assertion (A)- In modern period, Air Force is considered a symbol of 
victory. 
Reason (R)- Because the Air Force is capable of taking action 
everywhere at a rapid pace during war. 

a. Both Assertion (A) and Reason (R) are true. 
b. Both Assertion (A) and Reason (R) are false. 
c. Assertion (A) is true but Reason (R) is false. 
d. Assertion (A) is false but Reason (R) is true. 

                 Answer- (a) Both Assertion (A) and Reason (R) are true. 
 

1 

1(15) vfHkdFku (A) & f}rh; fo’o;q) esa :l us ijek.kq ceksa dk iz;ksx fd;kA 

dkj.k (R)&  ;s ijek.kq ce tkiku ds fgjksf’kek vkSj ukxklkdh 'kgjksa ij 
fxjk, x;kA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)

Assertion (A)- Russia used the nuclear bombs during the Second 
World War.  
Reason (R)- These bombs dropped on Japanese Hiroshima and 
Nagasaki cities. 

a) Both Assertion (A) and Reason (R) are true. 

1 
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b) Both Assertion (A) and Reason (R) are false. 
c) Assertion (A) is true but Reason (R) is false. 
d) Assertion (A) is false but Reason (R) is true. 

     Answer- (d) Assertion (A) is false but Reason (R) is true. 
 

 Very Short Answer Type Questions 06x02=12 

2        iSny lsuk dh dksbZ nks dfe;k¡ fyf[k,A 
mŸkj& 
1- xfr'khyrk dh deh 
2- dk;Zokgh dk lhfer {ks= 
3- vkiwfrZ O;oLFkk ij fuHkZjrk vkfnA 

 
           Write any two weaknesses of infantry.  

Answer-  
1- Lack of mobility 
2- Limited scope of action 
3- Dependence on supply system etc.  

2 

3        Hkkjrh; ukSlsuk dh fdUgha pkj iuMqfCc;ksa ds uke fyf[k,A 
mŸkj& 

       vkbZ0,u0,l0 dyojh] vkbZ0,u0,l0 f’kYdh] vkbZ0,u0,l0 vfjgar 
       vkbZ0,u0,l0 vfj?kkr vkfnA 
 
          Write the name of any four submarines of Indian Navy. 
          Answer- 
          INS Calvary, INS Shilki, INS Arihnat, INS Arighat etc.  

 

2 

4       lkewfgd fouk’k ds gfFk;kj dkSuls gSa\ 
mŸkj& 
1- ijek.kq gfFk;kj 
2- tSfod gfFk;kj 
3- jlk;fud gfFk;kj 

 
           What are the weapons of mass destruction?  
           Answer- 

1- Nuclear weapon 
2- Biological Weapon 
3- Chemical Weapon 

2 

5        iz’kkldh; dEiuh esa dkSu lh IykVwus gksrh gSa\ 
mŸkj& 
1- DokZVj ekLVj IykVwu 
2- esfMdy IykVwUk 
3- ifjogu IykVwu 

2 
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            Which platoons are there in an administrative company? 
        Answer- 

1- Quarter Master Platoon 
2- Medical Platoon 
3- Transport Platoon 

   
6        Hkkjr ds dksbZ pkj v/kZ lSU; cyksa ds uke fyf[k,A 

mŸkj& 
1- ch0,l0,Q0 
2- lh0vkbZ0lh0,Q0 
3- lh0vkj0ih0,Q0 
4- ,l0,l0ch0 
5- vkbZ0Vh0ch0ih0 vkfnA 

 
           Write the name of any four Para military forces of India.  
            Answer- 

1- BSF 
2- CISF 
3- CRPF 
4- SSB 
5- ITBP etc. 

 
 Or 
         izknsf'kd lsuk dh ;wfuVksa dks fyf[k,A 

mŸkj& 
1- 'kgjh ;wfuV 
2- xzkeh.k ;wfuV 

 
          Write the units of Territorial Army. 
 Answer- 

1- Urban Unit 
2- Rural Unit 

1 

7          ijek.kq dh izfrfØ;k,¡ fyf[k,A 
mŸkj& 
1- ijek.kq fo[k.Mu 
2- ijek.kq lay;u 

 
          Write the reactions of atoms. 
 Answer- 

1- Nuclear fission 
2- Nuclear fusion  

 
 

2 
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                           Or 
          iSny lsuk ds dksbZ pkj gfFk;kj fyf[k,A 
       mŸkj& 

7-62 ,e,e jkbQy] LVsu xu] 3 bap ekWVjZ] 3-5 bap jkWdsV ykWapj vkfnA 
 

          Write any four weapons of infantry. 
Answer- 
7.62 mm Rifle, Sten Gun, 3’’ Motor, 3.5’’ Rocket Launcher etc. 

 Short Answer Type Questions 06x03=18 

8        lSU; laxBu ds dksbZ rhu mn~ns’;ksa dks fyf[k,A 
mŸkj& 
1- ns’k dh ckg~; vkØe.kksa ls lqj{kk djuk 
2- ns’k dh vkUrfjd lqj{kk pqukSfr;ksa ls fuiVuk 
3- vkink ds le; ukxfjd iz’kklu dks lg;ksx djuk vkfn 

 
            Write any three objectives of military organization. 
           Answer- 

1- Protecting the country from external attacks 
2- Dealing with the internal security challenges 
3- Assistance to civil administration during disaster etc. 

3 

9        bathfu;lZ dksj dh izeq[k fo’ks"krk,a fyf[k,A 
mŸkj& 
1- lSfudksa ds vkokl dh O;oLFkk djuk 
2- ekspkZcUnh dh O;oLFkk djuk 
3- 'k=q dh vkiwfrZ O;oLFkk dks Hkax djuk 
4- ;q) dkS’kykRed ekufp=ksa dk fuek.kZ djuk vkfn 

 
           Write the main features of the corps of engineers.  

Answer- 
1- To arrange accommodation for the soldiers 
2- To make arrangement for field blockade 
3- Disrupting the enemy’s supply system 
4- Making warfare maps etc. 

3 

10        ok;qlsuk ds dk;ksa dk o.kZu dhft,A  
mŸkj& 
1- 'k=q ij ce Mkyuk 
2- gokbZ lqj{kk iznku djuk 
3- lkefjd fBdkuksa dks u"V djuk 
4- Fky o ukS lsuk dks lg;ksx iznku djuk 
5- vkink ds le; ukxfjd iz’kklu dks lg;ksx djuk vkfn 

 
      

3 



9 
 

       Describe the functions of air force.  
           Answer- 

1- Bombing the enemy 
2- Providing air defence 
3- Destroying strategic bases 
4- Providing support to the army and navy 
5- To cooperate with the civil administration during disaster etc. 

11        Hkkjrh; ukSlsuk ds fofHkUu foHkkxksa dk o.kZu dhft,A 
mŸkj& 
1- dk;Zdkjh foHkkx 
2- fpfdRlk foHkkx 
3- vfHk;ark foHkkx  
4- izf’k{k.k foHkkx 
5- lkeqfnzd loZs{k.k foHkkx 

           Describe the various departments of Indian Navy. 
             Answer- 

1- Executive department 
2- Medical department 
3- Engineering department 
4- Training department 
5- Hydrological survey department 

3 

12 +       izknsf’kd lsuk dk mn~ns’; D;k gaS\ 
mŸkj& 
1- jk"Vªh; psruk dk fodkl djuk 
2- lsuk dks lfØ; lg;ksx djuk 
3- ukxfjd j{kk esa lg;ksx djuk 
4- ukxfjd iz’kklu dks lg;ksx nsuk 
5- usr`Ro ds xq.kksa dk fodkl djuk vkfn 

           What are the objectives of Territorial Army?  
          Answer- 

1- To develop of national consciousness 
2- Actively supporting the army 
3- To cooperate in civil defence 
4- To support civil administration  
5- Developing leadership qualities etc. 

 
                    Or 
       jk"Vªh; dSMsV dksj ds mn~ns’; fyf[k,A 

mŸkj& 
1- usr`Ro {kerk dk fuekZ.k 
2- vuq’kklu dh Hkkouk dk fodkl 
3- pfj= fuekZ.k djuk 
4- jk"Vªh; lqj{kk ds izfr tkxf̀r iSnk djuk vkfnA 

3 
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           Write the aims of NCC. 
            Answer- 

1- Building leadership capability 
2- Develop the sense of discipline 
3- Character building+ 
4- Creating awareness about national security etc. 

 
13        gfFk;kj dh Qk;j {kerk ds fu/kkZjd rRo fyf[k,A 

mŸkj& 
1- izgkjd 'kfDr  
2- ekj dh nwjh 
3- vpwdrk 
4- Qk;j dh ek=k 
5- Okguh;rk 
6- n<̀+rk ,oa vuqdwyrk 

 
             Write the determinants of fire capacity of a weapon.  
             Answer- 

1- Hitting power 
2- Hitting distance 
3- Accuracy 
4- Volume of fire 
5- Affordability 
6- Persistence and adaptability 

 
                        Or 
            vkØe.k ds le; jkWdsV ykWUpj ds mi;ksx fyf[k,A 
       mŸkj& 

1- 'k=q ds VSadksa dks u"V djuk 
2- 'k=q dh rksiksa dk tokc nsuk 
3- 'k=q ds ekspkZsa dks vlQy djuk 
4- 'k=q dh ifjogu O;oLFkk dks u"V djuk 
5- 'k=q dks ijs’kku djuk vkfnA 

 
           Write the uses of rocket launcher during attack.  
           Answer- 

1- Destroying enemy tanks 
2- Responding to enemy artillery  
3- To thwart the enemy’s fronts 
4- Destroying the enemy’s transportation system 
5- Harassing the enemy etc. 
 

3 
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 Essay Type Questions 03x05=15 

14        Hkkjr ds mPprj j{kk laxBu dh O;k[;k dhft,A 
mŸkj& 
1- jk"Vªifr 
2- dSfcusV dh lqj{kk lfefr 
3- j{kk ea=h 
4- j{kk eU=kYk;& j{kk foHkkx] j{kk mRiknu foHkkx] j{kk ,oa vuqla/kku 

foHkkx] lSfud dY;k.k foHkkx] lSU; ekeyksa dk foHkkx vkfn 
5- l’kL= lsukvksa ¼Fky] ok;q vkSj ukSlsuk½ ds eq[;ky;A   

 
            Explain the higher defence organization of India. 
            Answer- 

1- The President 
2- Cabinet committee on security 
3- Defence minister 
4- Ministry of Defence- Dept. of Defence, Dept. of Defence 

production, Dept. of Defence and Research, Dept. of Military 
Affairs, Dept. of Military Welfare etc. 

5- Head quarter of Armored forces (Army, Air force and Navy) 
 
 OR 

       ;q) eas iz’kklu ds fl)kUr dk foLrkjiwoZd o.kZUk dhft,A 
mŸkj& 
1- nwjnf’kZrk 
2- 'kfDr dh ferO;;rk 
3- Lkjyrk 
4- lg;ksx 
5- ypd 
6- fu"i{krk 

 
            Describe in details the principle of administration in war.  
            Answer- 

1- Foresight 
2- Economy of power 
3- Simplicity 
4- Collaboration 
5- Flexibility 
6- Neutrality  

 
 

5 
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15        Hkkjrh; ok;qlsuk ds foekuksa dh fo’ks"krk,¡ ,oa izdkjksa dh foospuk dhft,A 

mŸkj& 
fo’ks"krk,¡& 
1- Vksg rFkk ns[kHkky djuk]  
2- Xkfr’khyrk 
3- ypd 
4- cpko 
5- izos’k 'kfDr 
6- ladsUnz.k 

       foekuksa ds izdkj& 

1- ;q)d foeku 
2- ce o"kZd foeku 
3- vojks/kd foeku 
4- Vksgd foeku 
5- ifjogu  
6- izf’k{k.k foeku  

 
            Discuss the characteristics and types of service aircraft of Indian Air  
            Force. 
            Answer- 

1- Reconnaissance and care 
2- Mobility 
3- Flexibility 
4- Rescue 
5- Penetration power 
6- Concentration 
 
Types of aircraft 
1- Fighter aircraft 
2- Bomber aircraft  
3- Blocker Plane 
4- Reconnaissance aircraft 
5- Transportation 
6- Training aircraft 

 
OR 

 
      Hkkjrh; ok;q lsuk dh izeq[k 'kk[kkvksa dk o.kZu dhft,A 

mŸkj& 
1- Qykabx ikbysV@ uSohxsVj foHkkx 
2- iz'kkldh; foHkkx 
3- ,jksukWfVdy bathfu;fjax foHkkx 
4- ykftfLVDl foHkkx 

5 
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5- f’k{kk foHkkx 
6- varfj{k Kku foHkkx  
7- izf’k{k.k foHkkx 
8- esaVsusUl foHkkx vkfnA 

 
          Describe the major branches of Indian Air Force.  
           Answer- 

1- Flying pilot / Navigator branch 
2- Administration branch 
3- Aeronautical branch 
4- Logistics branch 
5- Education branch 
6- Meteorological branch 
7- Training branch 
8- Maintenance branch etc.  

 
16        jkbQy dh fo’ks"krkvksa vkSj nks"kksa dk o.kZu dhft,A 

mŸkj& 
jkbQy dh cukoV 
fo’ks"krk,¡& 
1- lqj{kk 
2- n<̀+rk 
3- Qk;j xfr 
4- fouk’kd {kerk 
5- ekjd {kerk 
6- Hkkj {kerk 

       nks"k& 
1- vkM+ esa fNis 'k=q ij Qk;j djus esa vleFkZ 
2- de nwjh dh Qk;j {kerk 
3- lHkh ekSle esa dk;Z djus esa vleFkZ 
4- de izgkj 'kfDr 
5- yxkrkj mBkus ls lSfudksa dks FkdkoV gksuk vkfnA 

 
 

             Describe the characteristics and disadvantages of rifle.  
             Answer- 
 Rifle design  
             Characteristics  

1- Security 
2- Endurance 
3- Range of fire 
4- Striking power 

5 
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5- Range of action 
6- Portability  

            
             Disadvantages 

1- Unable to fire at the enemy hidden in cover 
2- Short range fire capacity 
3- Unable to functions in all weather conditions 
4- Low striking power 
5- Soldiers getting tired due to continuous lifting etc. 

 
 

                                                                         OR 
           iSny cVkfy;u dh lajpuk dk foLr`r o.kZu dhft,A 
       mŸkj& 
       cVkfy;u eq[;ky; ds Hkkx 

1- b.Vsfytsal lsD’ku 
2- Lukbij lsD’ku 
3- lqj{kk lsD’ku 
4- jsthesaVy iqfyl lsD’ku 

       cVkfy;u dh dEifu;k¡ 
1- iz’kkldh; dEiuh& DokVZj ekLVj IykVwu] esfMdy IykVwu] ifjogu 

IykVwuA 
2- lgk;d dEiuh& ehfM;e e’khuxu IykVwu] ekVZj IykVwu] flxuy 

IykVwu] ,.Vh VSad IykVwu] ik;fu;j IykVwuA 
3- 04 jkbQy dEiuh& dEiuh eq[;ky;] jkbQy IykVwu] lsD’ku] 

jkbQy o ehfM;e e’khuxu xzqiA 
 
       Describe in details the structure of Infantry Battalion.  
            Answer- 
            Part of battalion headquarter 

1- Intelligence section 
2- Sniper section 
3- Security section 
4- Regiment police section 

    
            Companies of battalion  

1- Administration company- Quarter master platoon, Medical 
platoon, Transport platoon 

2- Subsidiary company- MMG platoon, Mortar platoon, Signal 
platoon, Anti tank platoon, Pioneer platoon. 

3- 04 Rifle companies- Company headquarter, Rifle platoon, 
Section, Rifle or MMG group.  

 


